BETHLEHEM STEEL CORPORATION

PROFESSIONAL SERVICES RENDERED BY VENABLE LLP ON BEHALF OF THE DEBTORS JUNE 1, 2002 THROUGH JUNE 30, 2002

NAME OF PROFESSIONAL PARTNERS:	DEPARTMENT AND YEAR ADMITTED	HOURLY RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION
Craig E. Smith	L- 1973	\$290	102.90	\$29,841.00
Brigid E. Kenney	E- 1977	\$330	2.80	\$924.00
G. Stewart Webb, Jr.	L- 1975	\$340	34.60	\$11,764.00
Totals			140.30	\$42,529.00

- E Environmental
- L Litigation

NAME OF PROFESSIONAL ASSOCIATES:	DEPARTMENT AND YEAR ADMITTED	HOURLY RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION
Michael L. Hecht	L- 1999	\$180	1.00	\$180.00
				· ·
Mark D. Maneche	L- 1994	\$225	32.40	\$7,290.00
Julia M. Kiraly	G – 2001	\$175	78.00	\$13,650.00
Theo I. Ogune	L- 2000	\$180	97.30	\$17,514.00
Totals			208.70	\$38,634.00

G - Government L - Litigation

NAME OF	DEPARTMENT	HOURLY	TOTAL	TOTAL
PROFESSIONAL		RATE	HOURS	COMPENSATION
			BILLED	
PARAPROFESSIONALS:				
None				
Total				\$0
Paraprofessionals				

PROFESSIONALS	BLENDED	TOTAL	TOTAL
	RATE	HOURS	COMPENSATION
		BILLED	
TOTALS:			
Partners	\$303	140.30	\$42,529.00
Associates	\$185	208.70	\$38,634.00
Expenses Incurred			\$4,960.96
Subtotal			\$86,123.96
Venable's Billing Judgment Adjustment Prior to Billing			(\$30,368.50)
Total Fees and Expenses Billed			\$55,755.46
Amount Already Paid per Court Order			(\$30,000.00)
Holdback Amount Requested			\$25,755.46